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INVERSE TRIGONOMETRY 
FUNCTION 

1. lehdj.k tan–1  

ds okLrfod ewyksa dh la[;k gS : 

 (1) 1 (2) 2 (3) 4  (4) 0 

2.  dk eku cjkcj gS: 

 (1)  (2)  (3)  (4)  

3. ;fn Qyu  dk izkUr] 

vUrjky (a, b] gS] rks a + b cjkcj gS & 

 (1)  (2) 2 (3)  (4) 1 

4. ;fn  gS] rks tan p dk eku gS & 

 (1)  (2)  (3) 100 (4)   

5. ;fn  = a; 0 < x < 1, a ¹ 0, 

gS] rks 2x2 – 1 dk eku gS: 

 (1)  (2)  

 (3)  (4)   

6. ekuk 
 
esa Qyu f(x)  = tan–1 (sinx + cosx) ds 

vf/kdre rFkk U;wure eku Øe'k% M rFkk m gSaA rks 

tan(M – m) dk eku cjkcj gS : 

 (1)   (2)  

 (3)   (4)   

7. Qyu  dk izkar gS % 

 (1)   (2)  

 (3)  (4)   

8. cos–1 (cos (–5)) + sin–1 (sin (6)) – tan–1 (tan (12)) 

cjkcj gS : 

 (izfrykse f=kdks.kferh; Qyu eq[; eku ysrs gSaA) 

 (1) 3p – 11  (2) 4 p – 9 

 (3) 4 p – 11  (4) 3p + 1  

9.  cjkcj gS : 

 (1)   (2)  (3)  (4)  

10. ;fn 0 < a, b < 1, rFkk tan–1a + tan–1b = , gSa] rks 

 

dk eku gS :  

 (1) loge2    (2) e2 – 1  

 (3) e   (4)    

11. ;fn , rks  

 dk eku gS % 

 (1)    (2) 1 – y2  

 (3)    (4)  

12. ;g fn;k x;k gS fd izfrykse f=kdks.kferh;  

Qyu dsoy eq[; eku ysrs gSaA rks 

dks lUrq"V djus 

okys x ds okLrfod ekuksa dh la[;k gS % 

 (1) 2 (2) 1 (3) 3 (4) 0 
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13. ekuk gSA rks  

cjkcj gS : 

 (1)  (2)  

 (3)  (4) tan–1(3) 

14. lehdj.k , 

 x Î [–1, 1], tgk¡ [x] egÙke iw.kk±d £ x gS, ds gyksa 

dh la[;k gS : 

 (1) 2   (2) 0 

 (3) 4  (4) vla[; 

15. ;fn cot–1(a)  =  cot–1 2  +  cot–1 8  +  cot–1 18  

+ cot–1 32 + ..... 100 inksa rd] rks a cjkcj gS : 

 (1) 1.01 (2) 1.00 (3) 1.02 (4) 1.03 

16. The sum of possible values of x for  

tan–1 (x + 1) + cot–1  is :  

 (1)  (2)  (3)  (4)  

16. tan–1 (x + 1) + cot–1 ds fy, 

x ds laHko ekuksa dk ;ksxQy gS : 

 (1)  (2)   (3)  (4)  

17. okLrfod eku Qyu , tgk¡ [x] 

egÙke iw.kk±d £ x gS] dk izkar gS % 

 (1) iw.kk±dksa ds vfrfjDr lHkh okLrfod la[;k,¡ 

 (2) varjky [–1,1] ds vfrfjDr lHkh viw.kk±d 

 (3) 0, –1, 1 ds vfrfjDr lHkh iw.kk±d 

 (4) varjky [–1,1] ds vfrfjDr lHkh okLrfod la[;k,¡ 
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SOLUTION 

1. Official Ans. by NTA (4) 

Sol.  

 For equation to be defined, 

          x2 + x ³ 0 

 Þ     x2 + x + 1 ³ 1 

 \ only possibility that the equation is defined 

 x2 + x = 0       Þ  x = 0; x = –1 

 None of these values satisfy  

 \ No of roots = 0 

2. Official Ans. by NTA (2) 

Sol.  

  

  

  

3. Official Ans. by NTA (1) 

Sol. O £ x2 – x + 1 £ 1 

 Þ x2 – x £ 0 

 Þ x Î [0, 1] 

 Also,  

  

 Þ 0 < 2x – 1 £ 2 

 1 < 2x £ 3 

  

 Taking intersection  

  

  

  

4. Official Ans. by NTA (2) 

Sol.  

  

  Þ  

5. Official Ans. by NTA (2) 

Sol. Given  

 = (sin–1x + cos–1x) (sin–1x – cos–1x) 

  

  

  

  option (2) 
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6. Official Ans. by NTA (4) 

Sol. Let g(x)  = sin x  + cos x  =   sin  

 g(x)Î   for x Î  

 ƒ (x)  = tan–1 (sin x + cos x) Î  

 tan (tan–1 – ) =  

7. Official Ans. by NTA (3) 

Sol.   

  Þ 0 £ x < ¥ …(1) 

  Þ   …(2) 

 (1) & (2) 

 Þ Domain =  

8. Official Ans. by NTA (3) 

Sol. cos–1 (cos (–5)) + sin–1 (sin (6)) – tan–1 (tan (12)) 

 Þ (2p – 5) + (6 – 2 p) – (12 – 4 p) 

 Þ 4p – 11. 

9. Official Ans. by NTA (2) 

Sol.  

  

  option (2) 

10. Official Ans. by NTA (1) 

Sol. tan–1a + tan–1b =   0 < a, b < 1  

 Þ  

 a + b = 1 – ab  

 (a + 1)(b + 1) = 2  

 Now   

 = loge(1 + a) + loge(1 + b)  

 (Q expansion of loge(1 + x))  

 = loge[(1 + a)(1 + b)]  

 = loge2  

11. Official Ans. by NTA (3) 

Sol. , ,  

 So, a + b =  

  

 = cos(2tan–1y), let tan–1y = q 

 = cos(2q) 

  

2 x
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12. Official Ans by NTA (3) 

Sol.  

  

  

 x = 0,  

 squaring we get 

 16(25–9x2) = 625+9(25–16x2)– 150

 

 400 = 625 + 225 – 150  

  = 3  Þ  25 – 16x2 = 9 

 Þ  x2 = 1 

 Put x = 0, 1, –1 in the original equation 

 We see that all values satisfy the original 

equation. 

 Number of solution = 3 

13. Official Ans. by NTA (3) 

Sol.  

 Divide by 32r 

  

  

 Let  = t 

  

  

  

  

  

 S¥  

      

 \ S¥  
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14. Official Ans. by NTA (2) 

Sol. Given equation 

  

 Now,  is defined if   

  Þ  

 Þ    ....(1) 

 and  is defined if 

  Þ  

 Þ    ....(2) 

 So, form (1) and (2) we can conclude 

  

 Case - I if  

  

 Þ x + p = x2  

 Þ x2 = p  

 but  

 Þ No value of 'x' 

 Case - II if  

  

 Þ  

 Þ x2 = p 

 but  

 Þ No value of 'x' 

 So, number of solutions of the equation is zero. 

    Ans.(2) 

15. Official Ans. by NTA (1) 
Sol. Cot–1(a) = cot–1(2) + cot–1(8) + cot–1(18)+..... 

 =  

  

  

 = tan–1 201 – tan–11 

 =  

 \  

 a = 1.01 
16. Official Ans. by NTA (1) 

Sol. tan–1(x + 1) + cot–1  

 Taking tangent both sides :- 

  

  

 Þ  4x2 + 31x – 8 = 0  

 Þ  x = –8,  

 But, if x =  

  

 &  

 Þ LHS >  & RHS <  

  (Not possible) 
 Hence, x = – 8 
17. Official Ans. by NTA (2) 

Sol.  

 Domain  

 {x} ¹ 0 so x ¹ integers
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